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· f(x,y) =0 - a whole family of
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How to proceed? 3
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Suppose we are close to the roof.
We are standing at (x,y) and we want to
find Ax. By such that
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Using Taylor.

Sf(x
+ 1x,y + by) =f(x,y) + E(x,y).Ax + (x,y), By +..

fz(x + 1x,y + by) =fz(x,y) + Ez(x,y)..Ax + 2(x,y), By +...

rewrite more conveniently...

B(x + (x) =f(x) + J.Ax+...
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zirvi - "Jarobram matrix"

If Al lands on the roof, then

#(x +1x) =F(X) + J.AX =0

-3.Ax =

- F() z-5...(x)

Inoneetan-Oglasanmethod,
our jobsisin

·

alculate F(X)
·
Calculate 3(50)

·
Calculate 1x = -5. FE.) - use a linear solver)
· Update n =10 +1=

·

Return to the top with 50-

·
Where an things go wrong?
-> detJ =or J is approximatelysingular

·
Jeneralizable to arbitrary dimension.
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